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1- Area of parallelogram is the of its base
and altitude. -
ratio =’ (D) difference J/ (C)
2- The square root of a2 —2a+1is____ .
a+1 (D) a—1(C)
3- Symbol used for similarity is
[ (D) ~(C)

4- Diagonals of a parallelogram ___ each other at a point.

LIAE @
none of these uf&fr_ U~ gl (D)
5- Distance between points (0,0) and (1,1) is
V2 (D) 2(C)

do not intersect

L Lt ot ol & 130 8 Etkont $5152 <1 -1
‘ e trds &

roduct A Sk (A)
Bl ¥ at—2a+1 -2

sum st (B)

-
0

+(a-1) (B) +(a+1) (A)

Ao et et & L5 _3
«— ( = (A)

st &S B L5 L e G 4
intersect &; (A)

parallel (§jt# (C)
dob s £ (1,1) 41 (0,0) b6 -5

Q ” 0 (A)

6- The order of matrix B ﬂ is___ . =¥ [; (3) ﬂ A6 -6
2 -by- 1 (D) 3-by- 2 (C) O%& -by- 3 (B) 2-by-2 (A)
7- Two lines can intersect at ______ point/points. @ xS & (hELE b T
4 (D) 2 (B) 1(A)
8- The right bisectors of three sides of a trian Sy et f L e g L el ¢ 8
non-con “# (B) collinear &3¢ (A)
ent . L (D) parallel 15 (C)
9-1fy=2x+1, x=2 th ™ e Ay In y=2x+l,x=2/7-9
4 (C) 3 (B) 2 (A
10- Write 3/2 in exponential form a’fgﬂ (JU ug_ ' 2/5 -10
2% () 2% (© 25 (8) 2 (A)
11- What will be added to complete the square of 922 =1pab? L o/ & Wt U1 & it &y J¥S 9a% —12ab -11
-4b* (D) 4b% (C 16b% (B) -16b* (A)
12- congruent triangles can be made by joining tihe e b d”’; C Qe £ e L1 212
mid-points of the sides of a triangle. g Fe et Je_
2 (D) 5(€) 4(B) 3(A)
13- logga=__ log,a=__ .13
10 (D) 1(C) -1(B) 0(A)
14- A statement involving any of the symbols <,>, < or 2 eSSz LU Uk df 14
is called ____. et zedierwfds
linear equation .:,M/g,(»..{ (B) equation «=hl- (A) .
: inequality =lileg (D) identity =L (C)
15- (B+42)3-42) is equal to < 4l (\/-3'+«/§)(\/§—«/5) =15
9 (D) -7 (C) 7 (B) 1 (A)

11-(IV)-1%*A 124-123000 /-f
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Mathematics (Science Group) Paper: I (u’lf eI u‘—/&dﬁdﬁﬁ.‘ (15%A 124) Iigg (,nfu"" W)y
Time: 2:10 Hours Group -1 .r;/ & 2:10: 5
Marks: 60 SUBJECTIVE  (jwi &cﬂ —/ )Yy 60 : /%
Note: Section I is compulsory. Solve any THREE (8) questions (3) u.;c. Ji/c- U:r”»-" -« Jilo )
from Section II. However question No. NINE (9) is compulsory - Jiv(9) J’ﬁ‘db’ ('t'-_éd'umr
Section I Qﬂg
2- Write short answers to any SIX questions: (2x6=12) ZE felr Py 0) gl 2
i If A 40 i oL e . A= 4 0 P
D) thenfind |[A| - & Al ix Ty |-
ii- Simplify +/64x’y? v6axdy?  ZE & i
ii- Simplify 53" +(52)° 57 (52 = A i
X
iv- Find the value of "x" if loges 8 = 3 loggs 8=— f 12 ke nd § o v
v-If log2=0.3010 , log3=0.4771 , log5=0.6990 . log5=0.6990 . log3 = 0.4771 log2=03010 /i _v
then find the value of log45 & b nd  logas I
vi- Simplify /45 —3v20 +4+/5 Ja5-3J20 + 445 2 2
vii- Define binomial surd. ' ...S_J/JJ('UI/.P G vii
viii- Factorize 144a2 + 24a + 1 <(§} +24a+1 EGF i
ix- Factorize 2x-128x g 2x —128x° édﬁ ~iX
3- Write short answers to any SIX questions: (2x6=12) < % -Z/]’..U!/BZ..,UV(G){;J:( -3
| |
i~ Find square root by factorization x? -1 +4_ %5 x -1 +4——2_ ér‘r“” B o’/‘.»u s
x X
ii- Solve 9-7x >19-2x, where xR @ XxeR £ 9-7x>19-2x éd’ i
iii- Solve |2x+3[=11 @ [2x+3|=11 25 JF i
iv- Find the values of m and ¢ by expressing i m J colma L L/ﬁu; Ui y=mx+c Sebls _iv
of Yy=mx+c - gk s
2x+y-2=0 2x+y-2=0
9 p . . - 9
V-1 F==C+32, then find F if C = 50° C=50° Sk ed J Fin F=_C32 Ji
vi- Find the distance between two points A(5,2), B(-=3,-2) A(5,2),B(=3,-2) ’c,‘i:(rL’”J"G Qen 6465 _vi
vii- Find the mid point between two points A(4,~4), B(-4,4) A(4,-4),B(-4,4) = b5 L}S{‘» Kb _vii
vii- What is meant by A.S.A = A.S.A e Ve it = i f i
ix- Find the unknown values of x° and y° in given figure. -’c"i:r}’”uffJ Yo AT -ix
o [+
75 x° y° 75 x° y°
4- Write short answers to any SIX questions: (2x6=12) -Z.{{/’:.LLZ/EL:;UV(G){;JI -4
i- Define Bisector of an angle. E St L i
ii- Verify that 13cm, 12cm and 5¢cm are the sides of a Jowet £ 2kt 5em o 126m, 13em S 25 =cb i
triangle. ~Uf Uk
iii- Define Ratio. é Y Y QOO R T

(Z19)




{\

5-

.2-

iv- Find the value of 'x". _e“f(,b’;,xfgf‘x’ Liv
G S

v- Verify that the triangle having follownng measures of sides
is right-angled triangle:
a=1.5cm,b=2cm,c=2.5cm

vi- Find the area of a square whose length of one side is Qcm

vii- Find the area of given figure

10cm

16¢cm
viii- Define orthocentre.

ix- Construct a AABC, in which
mAB = 4.2cm , mBC=3.9cm, mCA = 3.6cm

L Fo o S b £ S ke S it

c_..,ir‘.dl/‘.fb
a=1.5cm,b= ZCm ¢c=2.5cm
-LgcmdUJé'JLJZr}V.:;Kd/
-ér}h’)/ (J{’UFU)

10cm

16cm
2 PRI 6

S et AABC
mAB =4.2cm , m‘B—C =39cm, mC—A =3.6cm

Section IT () - @
(U!/ 4 Ls']./ 2 / 8 LJI}’@

(a) Solve by Crammer's rule: % 2o : £
2x+3y=-6 % 2x +3y=—-6

2x+5y =10 @
p p+q q q+r : ;\> )

(b) Simplify: (3—] (E_] +5(aP .ar)p@) [3_
a4 2 ’ i

(a) Use log tables to find the value

!
(b) If 6x —— =6, then fin ue of 216x> — 5
6x 216x

(@) If (x+2) is a factor of 3x 2 — 4kx —4k?, then find
the values of k.
(b) Use division method to find the square root of
2
2

vy X x y

(a) Solve for'x': |x+2|-3=5-|x+2]
(b) Construct a triangle PQR and draw its altitudes, if
m_l;a =6cm, mQR =4.5cm, mPR =5.5cm

Prove that the bisectors of the angles of a triangle
are concurrent.

OR

Prove that triangles on equal bases and of equal altitudes
are equal in area.

11-1°%A 124-123000

-V

Vi

_Vii

~viii

Y

Zfdpc_ Yk Ju)ﬁ'é:// () -

2x+5y=-10

ar

i K

p+q i q+r

9 x {1239 3700 x UT230 & o od e oa § o (80 (D) =

_spied § 21657~ 3x ex_g‘_za )
X

Jn QA7 3x® —4kx -4k’ S (x+2) S .

_’cf;/()"’d L ie (:)‘.5‘/4 (v)

2 2 2
1‘7—10—"—+27—10—y—+1— (x#0,y=0) 1‘7—10i+27—10—y-+17 (x#0,y#0)
X X

y

Ix+2]-3=5-|x+2| .2 fd Lx () -8
S8 6P s £ Ui 2t APQR ()

mPQ 6cm, mQR 4.5cm, mPR = 5.5cm

o L i Lt 0E L S e -9

b
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1-  1- The medians of a triangle cut each other in el Se mdiglal el 11
theratio . . -Jt LY
1:1(D) 2:1(C) 3:1(B) 4:1(A)
2- The ratio between two quantities a and b is represented by &bl “lf/;u; v ot 0% Zbalaygklsy 22
a<«—b (D) azb(C) a=b (B)" a:b/(A)

3- One angle of a parallelogram is 55°, the remaining angles
are of measures

125°,125°,125° (D)
4- Distance between the points (1,0) and (0, 1) is
V2 (D) 2(C)

3
5- x= is a solution of the inequality —2 <X < 5

55°,55°,125° (C)

6- If logs x =2, then x=
1 ! @3@/
6 © £ )
7- Factors of 8x* +27y’ are
(2x -3y),(4
(2x-3y),(4 Xy +9y%) (D)

8- is the order of a sq

2-by-3 (D) 2-by-1 (C)
9- Obtuse angled triangle has _____angle/s
greater than 90°.
3 (B)
1(D)
10- Area of squareis ______
4cm
4cm
4cm? (D) 64cm? (C)
1 (T +B8) T -4B)=___
52 (D) 10 (C)
12- If (x,0)=(0,y), then (x,y)=______
-(1,1) (D) (0,0) (C)
13- HC.Fof a2 —b%? and a® ~b3is _____
a?—ab+b? (D) a-b (C)

14- Sign used for congruency of two triangles is

~ (D) <« (C)
15- 4x° =
4 (D) ' 2x (C)
12-(11)-1**A 124-116000 ;

55°,55°,55% (B)

1(8)
PR (%J@@/@<% eiferf x= -5
0 (D) 2 ) % C3m) _5(A)
2 O%

‘e 80% sl sl

e b 3l (0,1 A1 (1,0) 45 -4
0(A)

=xhn loggx=2 S .
8 (A)
L 8x3 +27y° -7
(2x43y),(4x* +9y%) (A)
(2x +3y),[4x% - 6xy +9y?) (C)
- (W) (ﬂ/;._fl._w -8
3-by-3 (A)

e adb sl 2”9
-t Lxle tyoli

3-by-1 (B)

2 (A)

none of these (/= U2 Ul (C)
/ 49____,,5/ b’d/ -10

4cm !
=

16cm? (B) 8om? (A)
(- B

46 (B) 4 (A)
=T x0=(0.y) S 12

(1,0) (B) 0,1 (A)
e ¥ a3 —b® a2 -b? 13

a+b (B) a’+ab+b? (A)
-& L}M Jwi .:V‘U&c;}_ L U&J‘L}"‘u -14

= (B) = (A)
Jax® = -15

2 (B) 4x (A)

-y
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Mathematics (Science Group)  Paper: I (u‘lf eI &/&J)&ddé (1%%A 124) 124 (-r:/u""'b) Ty (Y]

Time: 2:10 Hours Group: IT .f,/’/” & 2:10:
Marks: 60 SUBJECTIVE (s — L"' 60 : 5
Note: Section I is compulsory. Solve any THREE (3) questions 3) & “ J// o e fil Jila s
from Section II. However question No. NINE (9) is compulsory -q.— (o) )ﬁ} dlr(' t'-igd' (Ol
2- Write short answers to any SiX questions: (2x6=12) -£ {fugli/’ﬁuﬂlr(ﬁ)gc.éf -2
i- Perform the indicated operations and simplify. , e S u SFEINGFL ude i
I3 2+(2 1 o} 3 2) I3 2]+(2 1 o]t 3 2)
ii- Use law of exponents to simplify (2x5y‘4 )(—8x"3y2) (2x5y‘4)(—8x‘3y2) é/‘"c_ Yk d’cf.'l;"é Vs il
iii- Find the value of x and y, if x—iy-3=6-7i X-iy-3=6-7i /c ér}"‘_—,zf (,( y sl x il
iv- Find the value of x from the statement log; x =5 logyx=5 & ed § xe Ut abls -iv
v- If log2=0.3010,log3 = 0.4771,log 5 = 0.6990, then find N (> od J log32  _y
the value of log32 log2=0.3010,log3 =0.4771,log 5 = 0.6990
vi- If a+b =10 and a—b = 6; then find the value of ol u( (32 +b2) yna-b=6 s a+b=10 S i
(a®+b?) e
vii- Simplify (\/5 +7]~3—)[~/_ —71—3-] [\/5 —7%) &2 i
viii- Factorize 3x% —75y> x?-75y2 2L 7 i
ix- Use remainder theorem to find the remainder when 8x4 +4x® -3 +@> é‘:r}” OL o sk J 3t ,P ~ix
8x* +4x® —3x +2 is divided by (x+3) %S eV T x43)
Q? -z ;f.twﬁéumr(s),;:.df -3

<
3- Write short answers to any SIX questions' (2x6=1 @

i- Find the L.C.M of the expression 39x"y*z and 91x°y % 91x°y%27 . 39x7y%z ér}’ﬂ}’uwu <

ii- Solve for'x' |8x —3|=|4x +5| @ [8x=3|=]4x+5] zi:r;l”wrd' i
iii- Solve the inequality —4 <3x+5<8 @ —4<3x+5<8 ZEpbrorfrebld i
iv- Draw the graph of the equation y =4x <& y=4x zb Jlngl:v ~iv
v- Find the values of 'm'and 'c' by e in u."‘}p('c‘ul'm',«#cf_i_//;wuf y=mx+ce _y
the form of y =mx+c¢ , 2x 2x-y=-3 &
vi- Find the distance between owing pairs of points & (o e & siz £ 06 S5ls v
A(3,-11),B@3,-4) A@3,-11),B3,-4)
vii- Find the mid point of the line segment joining pair of points e e 5 U S Ut b6 il il
A(4,-11),B4,-4) A(4,-11),B(4,-4) ".{f’h’

viii- What is meant by S.A.A = S A.A Se ol Ve S.AA=S.AA i
ix- Define quadrilateral. -é ...«l/7 J uf? -ix
4- Write short answers to any SIX questions: (2x6=12) -5 //’...w/-"'z:.,uu«(swc.éf -4
i~ How are the right bisectors of the sides of a triangle? Sut Zn d’ ol G L el L el u’( -
i~ Can the following set of the lengths be the lengths of the ot F b et g Sizr i

sides of a triangle? 3cm, 4cm, Sem 3em, 4em, Sem
iii- What are similar triangles? : oot On W ultb s i
iv- Find the unknown value of 'x’ in figure. _’q{(}”_wf § X e F v
£ V‘:‘\o £ Vé\“
3 % S %
x Z ,
(é’—"jﬂ) - e
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v- What is Pythagoras theorem?
vi- What is altitude of a triangle?

vii- Find the area.

wop

-

viii- Define Circumcentre.

ix- Construct a AXYZ in which
mXY =5.5em, mZX =4.5cm , mZZ = 90°

8cm

?? g&J!‘;QJJ//‘ -V
e VK v
g i
-
(x]
3
] 8cm
E S i
S el AXYZ ix

mXY =5.5cm, mZX =4.5cm , m£Z = 90°

Section IT ¢ -
(U_?/.} 4 ﬁ:’l/; »l /:; 8 édlr/:)

(@)

Solve by using Crammer's rule 3x-y=-4

4x-5y=6
f N A
_ (216)7° (25)"2
Simplify
(0.04)_;2

(b)

x-y=-4 2£Feululel £/ () 5
4x-5y=6

2 o5 -
(a) Use logarithm to find value of 1/———0'72 1640)(820.37 < 60x8~0.37 & (i e g ("/b’) () -6
(b) If4+m+n=7 and £2+m2+n2=81, then find value @ Iy L2+ m2+n2=81 s f+m+n=7 [ (o)
Im+mn+fn @ & pbrd § Imemn+in
(@) If (x=1) is afactor of x® —kx? +11x~ ,@ﬁnd 37K x> —kx? +11x-6 G x-D A 7
the value of k. < Eered S kie
(b) Use division method to find t are root of S B PL (‘aj Coz)
2 2 2
2 -10+27-10 ST R T S
y Y y- y X X"
(a) Solve the equation 2 e orFren () -8
2x _ i_ 5 i 2x _ _2__ _ 5 _—_5_
2x+5 3 4x+10 2 2x+5 3 4x+10 2
(b) Construct AABC. Draw the biseators of its angles .’.{_fr il L Ugsls & sl &b AABC (L)

mAB = 4.2cm,m§6 =6cm and mCA = 5.2cm

Prove that "Any point inside an angle, equidistant from its
arms, is on the bisector of it."

OR
Prove that "Triangles on the same bases and of the same

(i.e, equal) altitudes are equal in area."

12-1%A 124-116000

mCA = 5.2¢m ! mBC = 6cm <mAB =4.2cm

L5 L8t st £oosls ujfl vk
£ ot L &l U oy Pt SeWSslr L);J{'}
“‘.“ by dl:

-9

L
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‘e: 20 Minutes Group -1 OBJECTIVE u":/’ .,r:fﬂ-g 2o 20 @ =Dy
rks: 15 Code: 5195 15: S

Coy 123 S

Ao Ltz e St Usih L i Lir g 4 Q832 - LD HIC B Acliz B L g L5
B ¥ 1 A7 0l e LS4 ek 4 iS4 S s wl el JZ5 S Bl SN S o2 St

1- If the three altitudes of a triangle are congruent

then the triangle is

equilateral {Wsvi$sl~ (B)
acute angled slinl (D)

2- The area of parallelogram base x altitude

2 (D) < (©)
3- Line/lines can be drawn through two points
4 (D) 3 (C)

4- The bisectors of the angles of a triangle are

parallel ()1 (D) perpendicular ($»f (C)

5- In a parallelogram, opposite angles are ______
congruent J‘L?‘ (D) smaller L (C)

point/points.

4 (C)

3~ Two lines can intersect at

3 (D)

7- A triangle having all sides different, is called E Z:
right angled d,l/"l-

equilateral sls (D)

3- x =0 is a solution of the inequl

x—=2<0 (D) x+2<0 (C)
9- Which ordered pair satisfies the equation y = 2x
(0,1) (D) (1,2) (C)
‘0- The square root of at_2a+1is |
+(a-1) (D) a-1 (C)

*1- Factors of Sx°—17 xy—12y2 are
(5x-4y),(x+3y) D) (x-4y),(5x-3y) (C)

2- logm" can be written as

mlogn (D) nlogm (C)
3- (\/; + \/_I;)(\/— - \/E) is equal to
a+b (D) a-b (C)
I- The value of {° is
—i (D) i (C)
2 6
5- If 3 x‘ =0 then x is equal to
-9 (D) 6 (C)

13-(11D)-1°*A 123-103000

el iunJEtEiuFl e N 4 1
ol
right angled .l /I246 (A)
isosceles ug Vigst~ (C)

GG x U Sonl 3K Lo §i1# 2

=(B) > A
q_fé(ggb#/%l:clgljfbc-ufl,ﬁ» -3
2 (B) 1 (A

L et L ygsls uEL ek’ _a
non-concurrent ,L'EJ(T/..’ (B) concurrent Ja‘i’(f (A)
Y.y L He L Qe i1 -5
e@! £z (B) greater <% (A)
o(&ﬁo G ESE s 1P 6
A\ 1 (B) 2 (A
o O s ae Y S b (UL P sl ] 7
isosceles u§ UIgsl» (A)
scalene (Wil (C)
e S¥er L e x=0 -8
3x+5<0 (B) x>0 (A
e Chy S y=2x ahldivuf -9
(2,2) (B) 2,1) A
Ui ¥ a®~2a+1 -10
a+1 (B) +(@a+1) (A)
g dAan L 5xP-1Txy-12y° <11
(x—4y),(5x+3y) (B) (x+4y),(5x+3y) (A)
e FoWlgpurs logm® 12
log(mn) (B) (logm)" (A)

< 4l («/a; + \/g)(\/;l = JE) -13

a’—b> (B) a’+b> (A
q.:,EJf -14
-1 (B) 1 (A)
2 6
& 4z x I 3 x"'o S 15
-6 (B) 9 (A



Mathematics (Science Group) Paper: 1 ({u’ﬂ’ « Tl J:Cd/fﬁ?) lstA 123 I:g4 (‘u}u

Time: 2:10 Hours Group -1 .,,/u,; & 2:10,
Marks: 60 SUBJECTIVE (@& 10 IR
Q UT- ‘ '_1_3 J i 60: .
Note: Section I is compulsory. Solve any THREE (8) questions (8) f e J[ & u-fr.u..‘o -y Ji!.ﬁ O
from Section I1. However question No. NINE (9) is compulsory -4 U (9 )/:i db’ﬂ t'-e.{d' o lfly
Section I (il o
2- Write short answers to any SIX questions: (2x6=12) -.ﬂ (/’;,yz/‘?&.-.wr(e)gg_df -2
i- Define symmetric matrix. eI i
— 2 3 23 ;
ii- Find the transpose of the matrix D = o s B=l, 5 g el i
ii- Simplify 3/~ 125 Y-125 =4 i
2 2 ;
iv- Slmpllfy (x3)2 -:—x3 (x3)2 5 xJ f‘.{/y ~iv
1 1
V- Evaluate log, — log, — & pred v
2128 2y08 TS
. 215 21x5 . . . ,
vi- Write into logarithm sum or difference 108 log 2 A Y PhojLe il /fb’;’ ~vi
vii- Reduce the rational expression to the lowest form g ./f o~ F ¢ A P i
120x2y3z5 @@ 120x2y3z5
30 x3y z O<® 30 x3y z*

Vil 1f x = 2 —/3 then find — %&ﬁ RESTON QTG PP SN O
X @ X

- Factorize 4x°-16y’ @%5 4x*-16y* édj' -ix
3- Write short answers to any SIX questions: @ (2x6=12) -é ;j’.-pgtzﬁéamr(s){c.éf -3
% ér)"’(k";bfuyéé_)a_%)éd; i

X2+ 5%+6, x —4x—12

i- Find H.C.F. of the given expressio

x>+ 5%x+6 s x*-4x-1

ii- Solve the equation x_;_ —;_2 =1 | E;—3 = iz—z =-1 Lol -i
iii- Solve the inequality 9-7x>19-2x,xeR 9-7x>19-2x,xeR & LahleF _ii
iv- Write the given equation in the form y = mx+c¢ g{{fu: f‘f y = mx+c PR Gfdj ~iv
X=2y=-2 X-2y=-2
v- Define collinear points. -é _4/7 J b BA v
vi- Find the distance between given points 4 (P ol w646 L Ly _vi
A(-8,1) , B(6,1) A(-8,1) , B(6,1)

vii- Define scalene triangfe. g S el Ll S _vi
viii- What is meant by $.5.8. = $.S.S. tep e Shof = LSS i
ix- Find m from the given parallelogram é (:L“‘ ed & me Lo gl df U -ix

P N P N
(6m+10)° 55° (5m+10)° 55°
556° §5°
L M L M



-2

Write short answers to any SIX questions: (2x6 = 15;) W '~).3 -égiaylz/éz.amy(&{c_df -4
i- Define right bisector of a line segment. _é ..y/JJJL $AF L B -
ii- Verify that 3cm , 4cm and 5cm are lengths of sides S st £ 2t i 5om sl dcm , 3em SZE G i

of a triangle. -Jr Uk

ii- Define congruent triangles. il ot S il

iv- Define ratio. e v

v- The three sides of a triangle are of measure 8 , x and g X 17 4%, 8 AL Uk Susr £ skt L v

17 respectively. For what value of x will it become ?b’é.tg ook w:,' P, é},; Lo u/
base of a right angled triangle?

vi- State the converse of pythagoras theorem. -é Uk o (s ko JE -vi
vii- Define altitude of a triangle. e L el i
viii- Construct AABC, in which Ui L AABC i

mAB = 3.2cm,mﬁl =42 cm, mCA =5.2cm mAB = 3.20m,mB—C =42 cm, mCA =5.2cm

ix- Define incentre of a triangle. P b sl ix

(‘EH 4 L7 5 0 A8 LJw ) SectionII (2 o

Note: Solve any THREE (3) questions. However

question No. NINE (9) is compulsory.

-6 Yy C)) J/j

3 -1 < (& © 3 -1 3
@ fB= [2 B 2] , then prove that BB™' = I @ BB '=1 & =k in B= [2 _ 2i| A -
@eP x@s)”? @ﬁ 216* x(25)* .
(b) Simplify \[ (.04)-1/2 @ (.04)-1/2 27 ()
(a) Use log table to find the value of «13.64 0.8176x13.64 é(}"‘;,f e satl Dre (;55’;’ )]

(b) If Sx—6y =13 and Xy =

125x°-216y°
(a)
(b)

Factorize by factor theorem 4 x°=10x+8

Use division method to find the square root
X x y vy
———10—+27—10—+——2—
y y X x

5(x—3) X

—_—x=]-—

9

Construct the triangle ABC and draw the perpendicular
bisectors of the sides

mAB =53cm, mZA =45°, mZB =30’

Solve

(@)

(b)

Prove that any point inside an angle, equidistant from its
arms, is on the bisector of it.

OR

Prive that triangles on the same base and of the same

(i.e equal) altitudes are equal in area.

13-1%*A 123-103000

125%°~216y> Jn xy =64 5x-6y =13 J ()
pred
X+ x—10x+8 "édf.”c:-up(df.l’/ (i
2 o G ie €2 2% ()
2

2

l(7-105+27—101+3'7
y y X x
S(x-3 X
(6 f_pei-d s (L

- Saind€ ot Gf L L1l 2t ABC &8 ()
mAB=53cm, mZA =45°, mZB = 30°

Uit & 185 L1 G Ut it & ool AL
et By ot L g li U1 B e T e il

k
G & sl Unt él,{a»ﬁ'd‘.{'ﬁ S e
-Ju;ul/. e s es Ut 4y

S (3) L b 2

5

-6

-7

-8

-9



Mathematics (Science Group) Paper: I ((u’lb’ 3 g J;LSJJ»?) 1A 123 (IV) & 24

Time: 20 Minutes
Marks: 15

Group - 1I

Nl

(545):)'
OBJECTIVE % 'r’/ [Py s 20
Code: 5198 CIUT 2557 15: /

% LVL? ey e S NP Af{_) ey s { Qb/dli’ -u‘éc_) DsCeBe Az jlb Ldlr/ oY

K ¥ e -y ol U u/}‘Jd'/4 Sk |
1- 1- The conjugate of 5+ 4i is

" S5+4i (D) 5-4i (C)
2- 1 1
————— isequal to
a-b a+b
LIS 2o
az—h a2~b2

3 HCF.of a2~b% and a’~b’ is
a’—ab+ b’ (D) al+ab+rb> (C)

4- x=0is a solution of the inequality

x-2<0 (D) x+2<0 (C)
2
5- Product of [x Y] -1 is equal fo
[x+2y] (D) [2x-y] (C)
6- logp—logq=

P
log(—) (D) — ()
q logq %5
7-1fx=2, y=2x+1 thenyis equal to

5 (D)

8- Find m so that x> +4x+m is |§e>te square

16 (D) 4 (C)
9- The diagonals of a p gram _ egph other.
trisect =" (B)
divide <> (D)
10- Symbol used for congruent is
< D) > (©)
11- Bisection means to divide into equal part/parts.

1 (D) 2 (C)

12- A triangle having all sides equal, is called
scalene &ALyl (B)
right triangle  &db,s /1245 (D)

13- In a parallelogram, opposite angles are
concurrent  &i% (D)

14- In a triangle, there can be

greater <% (C)
right angle/angles.
1 (D) 2 (©)

15- A triangular region is the of a triangle and

" its interior.
difference J/ (D)

14-(IV)-1*A 123-98000 F

sum o (€)

i

iS4 fuub ol ekl -E Sl /L ol 5
r-Jbe’5+41 11

-5—-4i (B) ~5+4i (A)
| L L

T a—b a+b

2b . 2a "

a2_b2 () az_hz )
.lgbﬁ/ a3—b3 2l az—_bz -3

atb (B) T a-b (A
:"_u'gb/.i»fdpﬁ-abk/ﬁfx=0 _4

3x+5<0 (B) x>0 (A

2 ) .

a4 [x v] R

[x—@@e\) [2x+y] (&)
@ logp—logq = -6

%{&%bg(p a) ® 19[{%) A

‘af.if.yi"n y=2x+1,x=2

3 (B) 2 (A
Kol lrJy Craxem & =d S Em 8
-8 (B) 8 (A

S S L1 5 £ o0 St -9
"bisect <2 (A)
bisect at rightangle " (C)

el ed L S _10
~ (B) = (A)

et Rl e S 11
4 (B) 3 (A

G L}llﬂ(u wWn 2z JEH S g L g ede L1 12
isosceles FUIE (A)

equilateral &L+ (C)
O Ly e L Ll S5 13

equal «lz (B) smaller % (A)

R E il Engtizts Sk’ 14
' 3 (B) 4 (A
Jwﬁ"f___zi,-mléuu,lwu/ 215
“ L

union ¢y (B) intersection 8 (A)




Mathematics (Science Group)

Paper: I ((’Jl!’

Time: 2:10 Hours Group: IT

Marks: 60

Note: Section I is compulsory. Solve any THREE (8) questions

To JFUE) 194128 Ty ()
P & 2:10:

susecTVE (51 QU Ty _ 23 60 : %
3) L JI);'.- S o Uit 2

from Section II. However question No. NINE (9) is compulsory -4 Yl (9 i/ db’ (" t'_:.'{d' = Ul
Section I (Jil%
2- Write short answers to any SIX questions: (2x6=12) E felz Loy @) gl -2
) 5 ~10 5 -10

I- Check matrix is singular or non-singular D= [_ 2 4:| = [_ 2 4} st A et At -

ii- Define identity matrix. _2_‘§ 7 S A6 s J Pl il
ii- Simplify y/25x'0"y®™ Jasx'yEm i
iv- Write in a+ib form (\/5—31')2 (\/5—31')2 AP avib v
v- Write in the form of a single logarithm 2 logx— 3 logy 2 logx— 3 logy z:;fu.‘: Jﬂfﬁ() woly v
vi- Find value of x when log, 64 =2 log,64=2 £ Ei:pl".-.-»f $x i
(g B3l g) o -
3
vii- Evaluate the value of " i when LE il —— Xy-2z i

XZ Xz
x=3,y=-1,z=-2 <€)®=3 y=-l,z=-2
ix- Factorize 144a”+24a+1 OCQD 144a2+24a+1 ZE6F -ix
3- Write short answers to any SIX questions: (2x6 @ -é ;/’...w/’a:..,mr(s)g c.J/ <3
i- Find the sgaure root using factorization %@ g e G e § 7P -
el 1o D el 1o
16 12 36 @ 16 12 36

ii- Solve the equation m -2 = < %/2_,(__2 —-2=0 é_:d’fobl/ i

iii- Define Non-Strict inequalities. E S eb g i

iv- Define Collinear Points. ZA) Q9T P

9 9 %

v- Find the value of "F" at C=10 when F =,§C+ 32 K =§C+ 32 4iC=10 £ & pred §“F7 v
vi- Find the distance between two points Z-f (}”'JJG s £ b6 2 £ &y i
A@G,-11),B3,-4) AQ,-11),B(3,-4)

vii- Define equilateral triangle. _&.{ 4/;" J A5 Lo Ssbr v
vii- What is meantby A.S.A=A.S.A e yfe AS.A=ZASA i
ix- If one angle of a parallelogram is 130°. Find the L1 9n € 130° 2910 L1 Lo L1 i

measures of its remaining angles.
4- Write short answers to any SIX questions:
i- In the given figure 6—15 is right bisector of the line

segment AB. If mAB = 6cm then find m AL
c

“d

()

2 g S ugis B
Z felr Lot ®) g -4
e St nf¥ AB 8.5 CD & PEY i

N mAL 7» mAB =6cm
¢

(2x6=12)




27 Quya-

/
* ii- 2cm, 4cm and 7cm are not lengths of the triangle. -Ur u”ul«u Sl e J(7cm »l4cm, 2cm il
Give reason. c’.’:..»l.a: = JJ:
iii- Define Congruent triangles. =y U S i
iv- Find the unknown value in the given figure. -z_’-: r}”ﬁ,é’» r)”t o J"éf 6 <iv
X 13cm
5cm
v- Verifythat a = 16¢m, b=30cm and ¢ = 34cm are sides ¢ =34cm Ly b=30cm,a =16cm SEJA v
of a right angle triangle. U U S Gt £ sl i85
vi- Define Rectangular Region. gy Sow & i
8cm ’
vii--Find the area of the given figure. i -2.:( (J",_S/ ¥ J‘e u’ G -vii
4cm
> [ 1
viii- Define Circumcentre. By e i
ix- Construct AABC in which U e ABC &L Lix
mAB =4.2cm, mBC =3.9cm, mCA =3.6cm mAB = 42 =3.9cm, mCA =3.6cm

(A a Loz 28 Ldrp) s_e%ﬁqu
Note: Solve any THREE (3) questions. However @% ) ;/ Jir {® t'-?;;f = Ui (3) uf P J:( b

question No. NINE (9) is compulsory

5. (a) Solve by using the matrix inversion methed @ Sl L ks () -5
2x+y=3,6x+5y=1 2x+y=3,6x+5y=1

2167°x @s)"*

2/3 1/2
@216)"x (25) B
;) £ ()

(b) Simplify (.04)_1/ (04)
6- (a) Use logarithm to find the value of voTE fxEx000 Z-/p’-".w,; o 4 J(B;b’;’ (U -6
0.0234 0.0234
(b) If m+n+p =10 and mn+ np+ mp = 27 jw mn+ np+ mp =27 Ly mintp=10 fi ()
then find the value of m”+n°+p’ Eered§ m?+n’+p’
7- (a) Factorize the following cubic polynomial by S uM L?J Aok Sstme su Jy f S (U7
factor theorem x°— x2— 22 x+ 40 x-x?-22x+40 & SF
(b) Find the value of 'k' for which the following expression will &/ H o Jitwe S & i J k(L)
become a perfect square 4x*—12x>+37x” - 42x+k axt-12x°+37x - 42x+k £ bl
X 2x X 2x
8- (a) Simplify 3x—6=2_;——_2 3)(_6=2—X_2 s S () 8
(b) Construct the triangle ABC and draw the bisectors of 4{ el L Ugals sl &t ABC & (L)
angles mAB =.4.2cm,m-]3'_(—3 = 6cm,mC__A =5.2cm mAB = 4.20m,mEE = 6cm,ma =5.2cm
g. Any point inside an angle, equidistant from its arms, e Uik £ U1 B L) f e Lot £ osls U/ A -9
is on the bisector of it. & b Bls g ot £ sl U155 0s T Joldh e
OR b
Parallelograms on the same base and between same L U1 15 066 2 JE Qi $157 By 4 508 (5 ]
parallel lines (or of the same altitude) are equal in area. (Ust 2l L & V) U (‘Eb u,l,o:» L u’r il
Ut Qs sl K Bses Y

14-1stA 123-98000
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Mathematics (Science Group) Paper: I (ﬁ’u’lﬁ’ R d,cdu'a?) 122-(I11) I.z¢ (%A/U""’ () U:’ (%]
Time: 20 Minutes Group: I Objective (53> .r:/lu‘n;; 2 20 &y
Marks: 15 ~ 15: %

Code: 5195 &y 10 T-4 -0
b Ll emn e Gt sl Ldir g 4 Q6817 o pLEs D M C B Az F de Ly i id
Bt 1y 4l A2 0l cu;"(fi.f.é Sak VLS4 Ut wb ekl s S e il LA S o2y S

3- altitudes of an isosceles triangle are congruent.

four Jg (D)
4- Proportion-is equality of

five &4 (D)
5- A(AdjA) =

(detA)I (D)

three £ (C)
ratios. '
four J& (C)

A.1 (C)

6- The right bisectors of congruent sides of an isosceles
triangle and its altitudes are

+1- 1- 1 hectare ~ acres £ ~ )»5‘1 -1 1
35 (D) 25 (C) 36 (B) 26 (A)
2 2 2 2
2" % - 2 + "}"’2— = % - 2 + 'y‘—z‘ = 2
y X _ y X" T
2 2 2
X+ X~y 2 xz_yz X2+y2
_‘xy (D) "—"xy () Xy (B) Xy (A)

-Q?Lﬂgfw‘f/ﬁ;ﬂ L&B‘U-‘?de;u -3
two s (B) one i (A)

LS Ly -4
three gf (B) two » (A

_ AAMGA=_____ 5
detA@) detA, AT (A)

td»féwo; S Lats b Vil _6

_u__rZ_n L

— e 3
concurrent _&?’(7 (D) non concurrent ,L'ﬁ(iﬁ.’ (C) @%ongruent Lﬂ? (B) equal sz (A)
7- Number of right angles in a triangle can be - GC ” sl J ULl) 26 o &l u’r -7
4 (D) W 2 (B) 3 (A
8- The square rootof 32 — 24 4 1is @ -3 Cluie ¥ a2 - 24 + 1 -8
t(@+2) () -2) (C) t(a+1) (B) t@a-1) (a
9- logiO € ~ ' lpglo € ~ -9
0.423 (D) 0.4343 (C) 0.4545 (B) 0.4646 (A)
10- X = 0 is a solution of the inequality -:;-c/: Kar fL ehlaf x =0 210
x-2<0 (D) X+2<0 (€ 3x+5<0 (B) x>0 (A
11- Mid-point of the points (2, -2)and (-2, 2) is___ % §>] L},L:w K (-2,2) (2, -2) bt 11
(-2,-2) (D) (2,2) (C) (1,1 (B) (0,0) (A)
12- Symbol used for "therefore" is ; _g,&n Sl A E 8 12
(D) < H(C) 1 (B) = A
13- Medians of a triangle are -Uln Slbes Laks _13
concurrent  Li%  (B) non concurrent J:J‘-lf"'/f (A)
equal iz (D) congruent Ji (C)
Pl a’-b? .14
a+b a+b -
(a+b)? (D) a+b (C) (a-b)* (B) a-b (A
1 1
25\72 25\ 2
- (3 pp—
ni -5 4 5
5 (D) b © 5 B 2 (A)

10-(I1I)-122-105000



Mathematics (Science Group) ~ Paper:1 (Ut I JE ) 122 Iy (W0 Pl
Time: 2:10 Hours Group: I ‘ y)fll,‘; & 210:h
Marks: 60 ‘ Subjective (}#1 " 60 : U4
< 9) AU it g ety Q) L L oag it : LS

SectionI (Jiloo

2- Write short answers to any SIX questions: ~ (2x6=12) ;gi,iauzﬁéamr(e)ga.éf -2
i- Define square matrix. q u J —q -2‘5:4’/7 J -/5‘(}'/ ~i
1 .
- I A=[0 ﬂ,thenvenfy that (Aht=A , (A) =A jz{,j_ﬂ I A=B ﬂ S i
iii- Simpiify:  4/81y 712 x~8 -y 41/81 y 1258 i
iv- Simplify (+/5 — 3i)% and write answer in the form of a+ bi EZr LS atbi £ (5 - 3)? v
1 @ . & 1
v- Evaluate log > T8 4 | -g{rjvc,g S log2 = Y
vi- Calculate log3 x log, 81 _ , e O ] lqg§ x log, 81 _vi
vii- Simplity 2 (6+/5 ~3+/5) : | 22 ) (6»/_ -34/5) vii
viii- Express -2- 3128 in the simplest form. : P 1Y P /[ 412 -viii
ix- Factorze  3x2-75y? - , édi’d’ 3x2-75y2 -
3- Write short answers to any SIX questions : (2 x6=12) {/’u&lz/"ﬁulﬂrﬁ){ c.éf <3
.- Find H.C.F of the following by factorization: O Zpl" (13 6 f .gu. ¥ J:z,w i
' x2+5x+6, x’—4x-12 o@ x245%+6, xP—4x-12
ii- Solve the equation —i—x —%x = x+% : %S@ LSS -—x—-%-x = X+é ehls | i
ii- Define absolute value. S @ f -é_ai Fed 3 i
iv- Find the value of 'm' and 'c’ of the following\li y m o L3 S8R y= =mx+C /_,l,pgfj, -iv

expressing them in the form of Y= 2x+3y-1=0 .ép"*wjd’ ¢’ sl

2x+3y-1=0 ,
v- Define abcissa and ordina -i J}" Sasbln g v
vi- Find mid-point of A(-8, 1) and B(S, 1) : 5 B ¥ BE ) AACB N s i
vii- Define isosceles triangle. ! S EAVGS. il
viii- State S.AS postulate. ~E ey € JiS i
ix- if LMNP is paralielogram fi nd the values of 'm' and | o ' asl'm' S < sz i LMNP A lix
- 4- Wrlte short answers to.any-SIX questlons: _ (2x6=12) T ,-¥ (i.:«uz/séeﬂlrm{z—éf .4
- Ingiven diagram CD s right bisectorof the e~ SLe st (¥ AB 1.8 CD LPEY i
2ol — - é — i i
segment AB. f mAB=6cm thenfind mAL mLB »# mAL v niAB=6cm
‘and mLB o o -ér’h'
B e LS |
D,

ii- If two angles of a triangle are 50° and 60°, then Fun 90° 51 60° Loy 3 Ll ST i

what will be the value of third angle? sn Vs Sesic ~

(é"&l’)



B-

. GUJ-G1-22

2

2! ==

iii- In A ABC. DE|BC if m_=§ and = %/ DE|BC y AABC i

mDB
mAC =4.8cm, find mAE

B g 23U mAE 7% mAC=48cm

iv- Define ratio. . ? < Sl v
v- Find the value of x in the given triangle: :’{_{(:1” ed ¢ x r:"‘ bUs el 6{5; -V
70
§ N
©
vi- Define interior of a triangle. | X ZJ/’ ot Laks _vi
vii- Define area of a figure. Ay N L‘FJ/ _vii
viii- Construct a right angied isosceles triangle whose &by el FUIGsk N2t L _viii
hypotenuse is 5.2 cm'long. - (52 JQJ §ds
ix- Constuct a triangle ABC in which SUAEk ABC &b Lix

mAB=32cm, mBC=42cm and mCA =5.2 cm
(UI/ 4557255 A8EJw ) Sectionll pu
@O :gd"c‘.—u JJ)G"LU:JG' () -5

(a) Solve by using the matrix inversion method:

<
3x-4y = 4 3x-4dy =4
x+2y =8 %b@ x+2y = 8
% 1/
2167 x (25 % L. 2167 x (25)”
(b) Simplify elo ) Ry 4 = ()
(0. 04) (0.04) 72
(@) Use logarithm to find the valu x /0.056 -2{(}“’&3 =3y J Jwﬂb’) J (43 8) X 056 N -6
3 . 4
(388) (388)
(b) If x+y=7 and xy = 12, then find the Sxd+y3 I xy=124 x+y=7/ (L)
value of x3 +y3 b
(a) Forwhat value of 'm' is the polynomial U'J Z (x+2) g J J (,( m' J% éfr}"‘ (-7
P(x) = 4x3— 7'x2+ 6x—3m exactly divisible -G’a./(-‘."’lu,' S P(x)=4 x>~ 7x%+6x-3m
by (x+2)
(b) Find the value of "' and 'm' for which of the following St c:,gﬂ’cfi:p'-”..:-é $mtt g (<)
expression will become perfect square 2l Gy
49x*-70x>+109x%+ £x -m 49x4-70x3+109x%+ fx - m
(@) Solvefor x |X+2|—-3=5-|x+2]| -ér,b’.,‘,rd’rlx+2|—3=5—|x+2|.~,m/ () -8
(b) Construct the triangle ABC. Draw the bisectors of Ll g"wcéug,u LUt &l ABC & (L)
its angles and verify their concurrency: é &fﬁ J J_nﬁ?(?
mAB=42cm, mBC=6cm, mCA=52cm '
Prove that any point on the right bisector of a line segment v It Ll £ AL 15 58 & i et -9
is equidistant from its end points. & Lol c,u,/é 13 b 5
OR b
Prove that triangles on equal bases and of equal altitudes L6 o st & P S S e
are equal in area. QU £ 2 2 Ut 2z

10-122-105000
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‘faihematics (Science Croup)  Paper: I (ﬁ‘? Ve T sl WGBS 192-000) .oz (‘,,fu""’p) L
Tirnes 20 Minutes Group: II Cujective 157 7:/ bpss o 20 0 &
Marks: 15 Code: 5198 15: 7%

“ AuT-cr22 .
e loizena Juih Léselb Ly, ¢ Q¥diz SHLEIDSC B Az KLy o
bt D e 1 o e 2t §LS LS S st i e f s S il S S o5 3

1-  1- Symbol used for 'approximate’ is O JE e & LF L

= (D) = (C) + (B) LA

2- A paralielogram has right angles. L A6 el 2
3 (D) 2 (C) 1 (B) 0 (A)

3HCF of x>~5x+6 and x2—x—6 is e ¥ x2 56 4 xPSx16 -3
x—2 (D) x2-4 (©) x+2 (B) x=3 (A

4-lf!2 = ( then x is equal to ey et xin 0 = 26 Ji -4

3 x A 3 x

-9 (D) 6 (C) -6 (B) 9 (A

5- One angle on the base of an isosceles triangle is 30°, % 30° ol Ly wb L .-‘-Ai"ug Uiy .5
its vertical angle is , YY1 PRI Py,
120° (D) 90° (C) @ (B) 30° (A)

6- A line segment has end points. | QC@ “Ulne,y LAl
5 (D) o Qg} 3 (B) 2 (A)

7- A triangle having all sides different is called , @% O un e (Pl 7
{ (B isosceles ¢AUIGLE (A)
none of these & (3% equilateral { usi5sl> (C)

8- (\/;+ JE)(J;_ JE) is equal to —eds & (Ja_+ Jl;)(f— \/E) -8
a+b (D) a2-b? (B a2+b? (A)

9- x=0 is the solution of th -eer f¥ el x=0 -9
Xx-2<0 (D) X+2 <0 (B) x>0 (A)

10- has no unit. 0w 7 S &8 10

perimeter LI (D)

11- Factors of a4_4p* are

length du (B)

ratio o’ (A)
-u_?_____d/i_l‘],lé at—4pt -1
(a~b)(a+b)(@2+4b%) (@)
@%-2bH)@%+2b%) (©)

12- The value of log (g] is ' - o) J log (g) -12
g lo
log?p+log’q (D) logg—logp (c) logp-logq (p) T(ﬁ% (A)
13- Point (-3, -3) lies in quadrant. WY & L5 (-3,-3) & .13
I (D) I () II1 (B) IV (A)
14- The conjugate of 5+47 is - SAZK 5+4i 14
5+4i (D) 5-4i (C) ~-5-4i (B) -5+4i (A
15- Area of given figure is ' > S JL &F g =15
g |
5em
25cm? (D) 10em? () 20ecm?  (B) 5cm? (A)

11-(IV)-122-101000



Mathematics (Science Group) Paper: I 7(&)1{ 3 vy J; Gik2) 122 1.4 (o S ,f'& ,

Time: 2:10 Hours Group: 11 .7:/1/» & 2:10:
Marks: 60 Subjective (i 60 : A
‘ i @ I A 8 E Sty () e Uy o ae G Ui o 1 LS
ev TS 2-22. SectionI Jil%
2- Write short answers to any SIX questions: (2x6=12) -c’f {fu&b’/"éuwr(s)i:.cjf -2
i- Define singular matrix and give example. > Je .f‘ 2l é Ny J st i
; 51 -
i~ Find product [1 2][ 4} 4 _",4":(:“‘.,/';}’(» ¥ [1 2][ 4} i
i Simplify  (x3)2 + 3 A : EA By s 30 i
iv- Simplify (2 —3i)(3—2i) and write answer Mzl 55 (2-30)(3-20)) -iv
in a+ib form. -Q’u‘!p& a+ib
v- Calculate logg xlog; 25 T 2o O I logg xlog,25 -v
vi- Find the value of a if logg =0.5 g ad ain l'og6 =0.5 S i
vii- Define rational expression. ’ ) IS P i
viii- Simpiity  §243x%y021 , -9 1/243 Koyl0z15 v
ix- Use the remainder theorem to find the remainder when ,52’: (1'" Stend fL -ix
3x3-10x%+13x —6 isdividedby (x-2) , “—M'(f'd% 7 3x3210x%+13x - 6
3- Write short answers to any SIX questions: (2x6=12) (}’..«Wﬂévmr(e)i c:._éf -3
i- Find H.C.F of A bw 102 xy2z , 85 xzyz 187 xyz? -
102 xy?z , 85 x%yz, 187 xyz* % 4
ii- Solve the equation 24/t +'4 =5 %S@ -23&}’;(' 2Ji+4 =5 bl -
ii- Solve the inequality }—x — -2— < X+ l -Z’i:‘ff—l-x —% < X+ l i
: 2" 3 3 @ e 3
iv- Whether (2, 5) lies on the line 2x =0 or not. a’u/ 2x-y+1=04 (2,5 HY v
v- Define cartesian plane. sz/’ S v
vi- Find the distance betwee i¥ of points e e gen £ B(3, -6) < A(2,-6) b& i
A(2, -6), B(3, -6)
vii- Find the mid-point of the line segment joining the Kb.ab’ Ll ¢.U-f A(-4,9) » B(-4, - 3)1,61 ~Vii
pairof points  A(-4, 9) and B(-4, ~3) é,a‘v.w S

q._)/ ch—u:ycﬂr‘ ~viii
4t Jx APQR= AABC fi ix

-Zf-:r:l”ﬂ,&'ﬂ" Sy x

viii- Define congruent triangles.
ix- f APQR = A ABC | then find Q

the un-knowns x and y

4- Write short answers to any SIX questions: . (2x6=12) -é ;iuwf"évmr(s): g 4
i- In congruent triangles LMO and LNO ) 'm' »l %' U+ LNO »/ LMO uth JLP ;f g -
find 'x' and 'm' gt i
2x+6 N 18
M—ts—5 12 N ‘
ii- 3cm, 4 cm and 7 cm are not the lengths of § Gt L sk Jr 7cml4cme3em i
a triangle. Give reason. L eoly b g U
iii- Define similar triangles. S Jc)f«v,lﬁ —ifi

(éJJJ:)



iv- Find the value of 'x'

S $x v

CwTha- 5| &

X
v- Verify that a=9cm, b=12cm and ¢ =15cm c=15cm s b=12cm <a=9cm JZEJ4I v
are sides of a right triangle. U U § Ot Lak st 246
vi- Define interior of a triangle. S Laks i
vii- Find the area: ek 5 i
§
=4
16cm «
S e Leks i

viii- Define circumcentre of the triangle.
ix- Constructa A XYZ in which

Ak AXYZ  -ix
mYZ = 7.6cm, mXY = 6.lem, mZX = 90°
(A8 Esz s 28 EJw ) Section Il o 2

(a) Solve system of linear equations by Cramer's rule: S e, Ui () 5
2x+ y =3 . . 2x+y=3
6x +5y=1 Bx+ 5y =
_y 2 _1 @ ):31 _1
® simpity @43 2. 62) ° %}O Py @43 2. 62 7 ()
Jase)™! % J(96)™
(a) Use logarithm to find value of %5 é‘:()”.ai eud (’{ £ (L) -6
(8.97)>x (3. 95) @ (8.97)° x (3.95)2
1537 . @ 1537
() If x=2++/3 , then find value of © 12 -
(x“'“‘) » X—T Ix X=2+\/§}7 (W)
1 o | 2 X X . v

X—--}—(v and (x—;) . -é{)"’@fg{
(a) Factorize cubic polynomial by factor theorem: é Lff: § Az (?1 -9 F eri i d)f. de (U 27
’ x> -x2-10x +8 x>-x%-10x +8
(b) Use division method to find the square root of : :z-fr}" 8 (:7 2 K5t (L)

9x*-6x3+7x% -2x+1 9x4—6x3+7x% —2x+1

(@) Solve the equation and check for extraneous solution, 12ty S Qi 25 ff et () -8

ifany 32—t =32t-28 -t =32t-28
(b) Construct the triangle ABC and draw the bisectors :’:f/ S et Lugals £ 1l & ABC & (L)

of its angles:

mAB = 4,6 cm, mBC = 5cm, mCA = 5.1cm
Prove that any point on the right bisector of a line Il AL 13 8 "] 4ﬁ Sk 9
segment is equidistant from its end points. B bWl sy Lis ,,L'i L o
OR {

Prove that parallelograms on the same base and L 1l 13 046 2 J&t Lot $157 ity 4o Sl S
between the same parallel lines (or of the same Jux/u S0 (Ut el L6 St Duse 8!; o) Lb(j{i;l 2

altitude) are equal in area.

11-122-101000



Roll No. oy

Mathematics (Science Group) Paper: I (ﬁ’u’ We I .‘.«4 dejﬁ?) 121-(I1) 1.4 (v, /u""t«) U.‘L J
Time: 20 Minutes Group: 1 Objective M .r:fU/ 2 20 0 =
Marks: 15 avr-4 -2/ Code: 5193 15: A

% L.Ji e e Ui Usih Zc.) Ly, g Lé(dli u"fa: DsCeBe Al j/b Ly od
G 9 4l -2 u,& U ..dr'(,(d_/4 So¥ L J_/(/ [u;/b ol e gl -2 =y e oL /L S o 20y Sl

1- 1- The diagonals of a parallelogram each other. _ujgf Jg_/» _{ J3 LS 1 1
trisect <" (B) ' bisect i (A)
none of these U3t (D) , bisect at right angle (5 (C)
2- Distance between the points (1, 0) and (0, 1)is ______ - o @il L (0,1) 4 (1,0) b6 -2
2 (D) V2 (© 1 (8 0 (A)
3- x=0 is a solution of inequality e ber L ehedx=0.3
x-2<0 (D) x+2<0 (C) x+5<0 (B) - x>0 (A)
4 HCF.of x2-5x+6 and x2-x-6 is - el X2 -x-6 4 x2-5x+6 -4
x-2 (D) x2-4 (C) x+2 (B) x-3 (A)
5- The degree of polynomial 4 x*+ 2 xzy is K 4xty2 xzy uﬂ/ -5
4 (D) 3 (C)
6-If X,5,2€R and z<0, then X<y = ....... X<y=>.. é<0,,:xy,zeR Ji 6
none of these J3#e Ul (D) XZ=YyZ (C) X XZ<yzZ (p)
7- Product of [X Y]{_?:' is %@} _ Ixvy [ } J’lpd/ -7
[x+2y] (D) [2x-y] [x=2y] ( 2x+y] @
8- The logarithm of unity to any base is —br sy L - (Zfb”) K11 g Jr -8
0 (D) O (C) 10 (B) 1 (A)
9- Which is order of a square matrix K G, Lonlf L9
3-by~2 (D) 2-by=1 (C) 1-by-2 (B) 2-by-2 (A)
10- The altitudes of an i s triangle are congruent. . -ugl.nf e qug Vigls 210
none J¥3¢Y (D) four /& (C) three ¢ (B) two » (A)
11- Factors of 5x°—17xy -12y? are 55 QAL 5x2-17xy -12y2 -
(x=4y),(5x-3y)_8) . (x+4y),(5x+3y) (A
(5x=4y),(x+3y) (D) (x=4y),(5x+3y) (©)
25\ % 25\
12- (Té—j = (ﬁ) o 12
4 5 4 5
T3 (D) 2 (©) 5 (B) 4 (A)
13- The product of two algebraic expression is equal J.’“,J'L‘}”:‘J!' (ylgla ‘ ..,/9()‘ b ¥ UM 13
to the of their H.C.F. and L.C.M. ~etr s £ L
quotient r‘“‘ J (D product «~AJ)% (C) difference J U} (B) sum ZUJ (A
14- logy X will be equal to L € 2l 10gy X .14
log, y _lo_gz_f_ lo_gl_z 19_gl_x
log, x (D) log, y © logy z (B logy z A

15- If (x,0)=(0,y), then (x, y) is Az (xy) I (x,0)=(0,y) 1 _15
(1,1 (D) 0,0) (C) (1,00 (B) ©1) (A)
10-(I1)-121-111000




Mathematics (Sclence Group) Paper: I (ﬁ’u’tb’ 3 OV J;‘ r42) 121 1.3¢ (.,,,fu""'t,) ‘j"'y

Time: 2:10 Hours Group: I /g & 210
Marks: 60 CyUT- 4 =2 | Subjective (1 80:, 1
Ui Q) I AU At ety @) of o U o o g0 i 1S
2- Write short answers to any SIX questions: (2x6=12) ..;i (i@;mﬁégmr(e),;édf -2
. 1 2 o 1 2 .
i- If A=[0 1] . then verify that (A=A Aht=A 2 In Az[o 1] A
123 010 010 1 23
ii- If D - D+ - - I
i I:_l ¢ 2i| , then find D+|:2 0 J [2 01 in D 63 S i
ke
iii- Express il in the standard form a+bi ~Zb s atbi S S 93‘;7,1 -iii
i i
iv- Evaluate 27 : ,ép"’d g 27 -
v- Express 9.018 x 1078 in ordinary notation. : -’éru.’t rf) rkf 9.018x107% _v
vi- Find the value of x when log, x =5 log,x =5 G $x v
vii- Reduce the rational expression to the lowest form (x+ y)2 —4xy
A pPg A T B i
(+y)” —4xy d i @(x— v =
x-9)° <
vi- simpiity (VX + ¥ JWX = )0+ )+ 37) S (x # o3I - e e +y?) Vil
&

EAS 3x-243%3 -

<
ix- Factorize 3x—243x° @
3- Write short answers to any SIX questions: (2 -é {i@&&/ﬂéaﬂlr(s)g e.(;f -3

i- Find the H.C.F. of the following expressions: et A UM tits i
102xy2z , 85x%y . 187xyz @ 102xy%z , 85x%yz , 187xyz?

i~ Solve the equation —Pitl— =2 s
2x+5

lii- Solve |x+2|-3=5-|x+
iv- Draw the graph of y = 4x

x+1 5
s =2¢x¢——~:/H/‘ i
e oy 2 =

E FS |x+2]-3=5-|x+2| i

_g:}lf( y=4x -iv

v- Determine the quadrant of the co-ordinate plane in é u:a ¥ o Lorredd YW e b Ends -V
which the following points lie:  P(-4, 3), S(2, -6) P(-4,3), S2, -6)
vi- Find the mid-point of the points (6, ), (4,-2) -z:.f(}v,bﬁ Sy ¥ (6,6), (4, -2) b -vi
vii- Find the distance between points (7, 5), (1, -1) -’Zf;(}"}v(s 0" L (7,5), (1,~1) W wvii
viii- f AABC = ALMN,, then c N Ju AABC = ALMN A i
() mLN = ... mANZ .. (i)
(i) MLA = .. mLA = e (ii)
. 60
A 8- LW
ix- Find the unknowns x°, y°, m® and n° in the 3l m° ¢ y° ¢ x° r}”c o Jaf ¢ -ix
given figure: ™ g o
76
4- Write short answers to any SIX questions: (2x6=12) -é{f@ﬁ&/ﬂﬁwl’b’(ﬁ){ c.—Jf -4
i- In the given congruent triangles LMO and LNO, b o LNO ! LMO gl Ji§s -
find the unknowns x and m: _— - ..éfgr_J”ﬁﬁ'J m sl x (6

(&g MES—T0 12



5-

6-

7.

ii- What will be angle for shortest distance from
an outside point to the line?
iii- Define similar triangles.

iv- Verify that the triangle having a=5cm, b =12 cm,
¢ =»13 cm measures of sides a right-angled triangle.

v- Find the value of x in the figure:

vi- Find the area of the figure:

2- GUF G-

u-‘.'&ﬁ e Ue b3 el é#{.ﬁ é)ﬁﬁb'u/ ~ii
082ty ol §ir F AL 1 1335 U o

—éh—é.’f".b(uwew' ~lii

a=5cm, b=12cm, c=13cm VRSl als  _iv
-+,Jij'>fﬁ'wgf"é&ﬁ‘7 Ut

e xt PTG

4cm X
o ek e BT i
3em
sem S i

vii- Define triangular region.
viii- Construct A XYZ , in which

Sl AXYZ  -viii

mZX= 64cm, mYZ=24cm, mZY =90°

ix- Define centroid.

- ASY NS

X

(uj;,*" 8Lz 50 A8 Ly ) Sectionll (» o

(a) Solve the following system of linear equations by

=y Ju‘ﬁ‘ﬁu;.)ﬁ'fu?bl/&;mﬁ () .5

using matrix inversion method: O 2x -2y =4
2X—2y=4 O%% 3x+2y=6
3x+2y=6

2 1
(216)3 x (25)2

(b) Simplify )
(0.04) 2

() Use log table to find the va ;
(388)

(b) fx-y=4 and xy=2

(a) Factorize: 8x° - 125y° - 60x2y + 150xy>

x24+2x-24

x“-9 x2-x-12

Sx—3)
6

(b) Construct A XYZ . Draw its three medians:

mXY =4.5 cm,

x2—x—6

(b) Simplify

(a) Solve the equation x= 182

Prove that any point on the right bisector of a
line segment is equidistant from its end points.

OR

Prove that any point on the bisector of an angle

_ Is equidistant from its arms.

10-121-111000

8)3/0.056

mYZ =

2 1
216)3x @57

E5)

=3
(0.04)2
438)+/0.056 ) “
((3_38)4“_ et od coud e (L) -6

y then find the value of x3 - y3 ..éf)"‘u»fgf -y Inxy=21ux-y=4 fl (o)

= $F § 8x3 - 125y% - 60x2y + 150xy2 (i -7

. 2_ .. 2 3
-éﬁffx X 6+x+2x 24 S
x2-9 x2—x-12

ey ¥ _5.("6;3’_)__x ~1-X cn () 8

O

By L1 b XYZ 2 ()
34cm and mZX =5.6cm
nIn 51,4 et L 158 (N S 9
b J’WU}P@U}/& 13 AW L
k
LU b oy £ 0 Ld....:!) J(f’é:(c/L"
gl b lfslr sl

% AR P



Roll No. . Sl /j/
Mathematics (Science Group) Paper: 1 (( U1 b d’ﬁ 192 121-(IV) I.g¢ (v’/‘.f:. 1) U.‘ b
Time: 20 Minutes Group: II Objective (3 '1"/ 1 2 20 0
Marks: 15 VT-62-2 !  code:sise 15: U

‘4.

T Luli o e e U ZLJ e LJy s £ QKJV U‘Z:_) DsCe¢B: A Uij 2 Ll oy
B 1 4 % 0l e uJ!"JL/(/ s [ L.// fu;/b 5% c,uf Z ")/c,u’-'b /L [u/b.ola/

1- Point (-3, -3) lies in:quadrant
IV (D) I (C)

2- The value of log ( g- ) is =

logq—logp (D) logp+logq (g)

3- The right bisectors of the three sides of a triangle are

collinear L% (B)
parallel (§J1# (D)
4~ Which is order of a square matrix 7
3-by-2 (D) 2-by-1 (C)
S- The medians of a triangle cut each other in the ratio  _utZ-
1:1 (D) 2:1 (C)
8- Mid-point of the points (2, 2) and (0, 0) is
-1,-1) (D)

7- What should be added to complete the
square of x* + 64
4x2 (D)

8- If a*=n, then

a=log,x (D)
9-If x,y,2€R and z<0, the

.......

none of these Jfﬂf:.u: . XZ=YZ (c)
10- The degree of polynomial 4 x%+ 2 xzy is
4 (D) 3 (C)
11- LC.M. of a®+b? and a*-b* is
a-b (D) a’-b? (C)
- Wiite 4% wi N
12- Write 475 with radical sign
V46 (D) %43 (©)
13- If x is no larger than 10, then _
x>10 (D) x<10 (C)
14- Find m sothat x%+ 4x + m is a complete square
16 (D) 4 (C)
¢ .
15- I . = 0, then x is equal to
3 x
9 (D) 6 (C)

11-(IV)-121-109000

(0,1 (C)
O % d/‘.};

—e U B LY (-3,-3) B .1
I (B) I (A)

= =d f log(§) -2

iggg ® logp-logq (a)
Utls et G s ur[_.w -3
congruent i |
concurrent ,Lﬂ(' (C)
C_KJG'O’)/»(’QJJL:’/ -4
i ‘l—by—2 2-by-2 (A)
,17}

/@/;;J{,I&ALJ -5

§) 4:1 (A
< @ Sl (2, 2) 11 (0, 0) b6 6

(1.1 ®™
Jg@gc’gﬂf x4+64 1z _7

-8x% (B) 8x2 (A)
Jx a*=n J .8
=log,a (B) a=log,n (A
X<Y = e, Jwz<0 » Xy,zeR 1 _9
XZ>yzZ (B) XZ<yz (p)
e K 4xty2xly &4 10
2 (B) 1 (A
< Sidbsi 6 a - b* 0 a2+ b2 11
a?+ b2 (B) at-p* (A)
e B 4B 12
& ® e
_ Vwslre 1048 x N 13
x<10 (B) x=8 (A)
Wbt BrJ x2+4x+m éﬁ_f&»‘fgf{gfm -14
-8 (B) 8 (A
AL X In i':Oﬁ_’lS
-6 (B) -9 (A



;:athematics (Science Group) Paper: I ((u‘lf I J,C $rA£) 121 Iz¢ (.,,fu-"’v) U‘ Ly

‘me: 2:10 Hours Group: II ..;)/ 13 & 2100
arks: 60 Guf _q A’z' Subjective LS_"_ 60: g/ b
-« (9 )‘/‘Jb’fﬁ' id’ulﬂr (3) . e (13 2 -« Uil o 1y
SectionI Jilo _
- Write short answers to any SIX questions: 2x6=12) ..2;.-( {/’..-.gmﬁ"&..-.my(s)g.—_éf -2
. ) o= 11 2 I 1 2 .,
- Verify that if A=[O IJ  then (Abt=A aht=a SEG 1% A=[0 1] S
1 2 3 . 1 2 3|
ii- {f Dz[ , then find 2’:.‘::#}"..)5"].5@/)114 D= S i
-1 0 2 -1 0 2
0 1 O 0 1 0
D+
D“{z 0 J [2 0 1
iii- Express each complex number in the standard - FJa+bi S (J‘ﬁ'&?ﬁ?) Sl u—.‘?-'{ S il
form a+bi = (=3+5i)~ (4 +9i) —(-3+5)—-(4+9)  Z
. ) 1 -
V- Find the value of x if 10g6255 = Zx f:r:"’w’J X Iy log625 x Ao
vi- Express 416.9 in scientific notation. -’&ﬂ;‘ A3 u”l/)/ 416 9 _vi
2.3 4
X - 5z -5
Vii- Evaluate _y————, for @ x y Z - Vii
Xyz yz
x=4, y=-2 z=-1 ©V==2, z=-1
viil- Simplify  2(63/5 — 3v5) OV S 2645 - 345) i
ix- Factorize ~ 3x —243x° %5@ “ZEUAd 3x 2433 -ix
3- Write short answers to any SIX questions: 2x6 -".{ {f. eymf“"éc.my(spg c_éf =3
i- Find L.C.M.of 102xy2z, 85x2yz , 187xyz2 @ ¥ 102xy2z, 85x2yz , 187xyz2 i
; b Pl
ii- Solve the equation  /3x+4 =2 -’éd’f V3x+4 =2 bl _j
iii- Solve for x )2(+5 =6 e Sfy x+5 =6 bl _ii
: -X
iv- Determine the quadrant for the points: -4 u.‘.” ¥ d; [.6;5*' #Llsi Lis v
P(-4,3), S(2,-6) P(-4,3), S(2,-6)
v- Verify whether the point (5, 3) lies on the £2%-y41=0 JU (5,3) BSZEIA v
line 2x -y +1=0 or not. oy ¢(j:,
vi- Find the mid-point of the points (-5, ~7) and (-7, -5) ép‘-")w deK( 7,-5) sl (=5,-7) b8 _vi
vii- Find the distance between the points A(Q, 0), B(0, -5) ‘{r}”.lnb dbw § B(0, -5) « A0, 0) b&& _vii
viii- If AABC = ALMN , then MN Jn AABC = ALMN Ji i
() mMLN =............ mZN = (i)
(i) MZLA =, o 1 AP U . (ii)
L 2%
ix- If LMNP is a parallelogram and o 7N s e Lueuigi o LMNP S lix

sum of its two opposite angles is 110°. F e 110° 2% ¥ Uysls W& 5 L1

e S i U B

£
. §
Find the remaining angles.

(é—‘JJ’)



=
)

4-

5

« e

Write short answers to any SIX questions:
i- In equilatral triangle ABC, AD is bisector of angle
A, then find the value of x°, y° and z°

- B
ii- 3cm, 4 cm and 7 cm are not the lengths of the
triangle. Give the reason,
iii- Define similar triangles.
iv- Veerify that the A having the following measure of
sides is right-angled: a=16cm, b=30cm, c= 34cm
v- Find the value of x in the figure:

vi- Find the area of figure:

(2x6=12)

Guro>

-é;/..,uz/”z....mr(s){gdf -4
~ A A il AD  ABC &Lfboiigls -1
-E{l:(}":#’: u( Z° sl y° « x°

¢
611#15.:4?‘(,/ 7cmsidcme3em i
-’2:-:&0: ‘,_J_{, _u_f;j.‘}uljl_fj g
St s i
a‘-?‘::fé(zﬁ -ujJ:JZyu Uk JCW’LW -iv
a=16cm, b=30cm, c=34cm ¢ pol/iaf6
g x kP v

e ’szf}")‘) (\_}é ~vi

vii- Define altitude or height of a triangle.
viii- Construct a A ABC

ix- Define incentre.
(u?/ 4525 A8 LJr ) Sect

(a) Solve by using the matrix inversion method:
2x-2y=4, 3x+2y=6

21675 x (25)%
(0.04) %

(b) Simplify @
O
97)% x (3.95)%
31537

(a) Use log tables to find the va

5- 2
(b) If x = l/———J—_—,then find the values of X+ —
J§+ﬁ X
1
and 2, —
X"+ 2

X
(@) Determine the value of k if p(x)=kx3 +4x2+3x -4

and q(x) = x3 - 4x + k leaves the same remainder

when divided by (x - 3)
N 1 - . |
(b) Simplify A~ -, asarational expression where A= :L

1
11
x+1 x+1

(@) Solve 2 __
x“~1
(b) Constructa A ABC and draw perpendicuiar
bisectors of its sides:

, x# 1

mAB =53 cm, mZA
Prove that any point on the right bisector of
a line segment is equidistant from its end points.
OR
Prove that any point on the bisector of an angle is

equidistant from its arms.
11-121-109000

mAB=3.2cm, mBC =4.2cm, mCﬁ@g

©
&

EfS L Lak il

el AABC  .viii
-é‘...é!;(;}'//&uﬂ ~ix

e U §f Lods () 5
2x-2y=4,6 3x+2y=6

2167 x 25)72

EEY =7 ()
(0.04)
3 2
e s ), -J@f (897) x (3.95) ) -6
=S urdl?(‘{ Vis37 ()
X2+-17ulx+~1— in x—f I / (u)
x* X 5+ 2
gty

p(x)=kx3+4x2+3x-4 uﬁ[éfgﬁfufk () -7
:._Lf(ljr{(x—l’»)f ax)=x3-4x+k »

FE St
A=t gl pa AL )
S - .4 , x=+1 () -8
) x2_1 x+1 x+1

B ot G LEMS L1t £t ABC 2 ()

=45° and m£B=30°

s (‘Eb £ wtd:féb)ﬁu/ﬂ—gﬂfé.&(a? -9
o oI = Urp Lt o B
k

Lt fig g oot Lows 'S gt
ot Jolifals oSt
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Mathematics (Science Group) Paper: I ({f’u'lf o J;UJI??) 119 (IV) 124 (VJJ’L«) Ub"/

Time: 20 Minutes Group: I Code: 5197 .(,)’u;,/, 2 20 1 =H
Marks: 15 Objective (857" 15: S

b L2 oy e s Ussl Jc.,: e\ a':dlr/ Z Q(dli -u‘éc.) DulCcBec Atz jzb LI <
o e 7 i S era._/Q Sok it i i w ek ’Z.)/c_gﬁrb /t £ o 3

4 1- Factors of 5x2 - 17xy - 12y are - 3 ez L 5x2 - 1Txy - 12y% -1 1
(5x - 4y).(x + 3y) (D) (x - 4y).(5x + 3y) (C) (x - 4y).(Sx - 3y) B)  (x+4y),(5x+3y) (A)
2- In a parallelogram diagonals intersect -u:._/ c._/ J e 9 .,_fl LWy -2
eath other in the ratio
1:1 (D) 1:3 (C) 2:1 (B) 1:4 (A
3. A triangle having two sides congruent is called C g ust S Gt 0 ek fl 3
rightangled /=46 (B) scalene LW (A)
isosceles AU IG5 (D) equilateral {usuigsls (C)
4-1f (x=-1,y+1)=(0,0), then (x, y) is equal to -z (x, y)Ix(x-1y+1)= (o, O)f
(-1.-1) (O) (1.1 (© -1.1) (B) (1,-1) A
5- HCF.of a3 +b% and a2-ab+b%is____ — (y;laf a2 —ab+b2 s a3 +b3 -5
a2+b2 (D) (@a-b)? (C) a2 -ab+b2 (B) a+b (A
6- Bisection means to divide into equal parts. - b £/ (J %@ )l/r..i':"" L 6
' 2 D) 3 (0 5 (A)
7. Arayhas _______end point/points. x eplly ZICLEL -7
4 ©) 3 © 0§§ 2 ® " ®
8- The order of matrix [2 1] is % e w¥ 2 16 -8
2-by-2 (D) 1-by-1 (C) %5 1-py-2 (B) 2-by-1 (A
g- logba X logcb can be written as @ -q.bc b W/u/ 'S Iogba X Iogcb -9
logbc (D) ‘ gﬁ%) logca (B) log_¢ (A)
10- Mid-point of the points (2, -2) an is e lenf (2.2 412,-2) 46 -10
(1.1 ©' 0,00 (C) (-2,-2) (B) 2,2) (A
11- x= is a solution oftheinequality—2<x<% q—w(—/«f/-’— 2<x<% chlafex= -1
3
) (D) 0 (C) 3 (B -5 (A)
12-1f a,beR, then only one of a=bora<bora>b a>bla<bla=b S/ 3, beR . -12
holds, it is called as -:_duf - 7r e
transitive property ==becs™ (B) trichotomy property _/bdu‘ (A)
multiplicative property I ) additive property =<bJ” (C)
13- (ax + 3y - 2) is an algebraic e AL ax+3y-2) 3
inequality .-,bl/,:f (D) equation =~ (C) sentence o/“‘; (B) expressnon 22 (A)
14- Equality of two ratios is called -u_?[f_’./ e J" g Lur"» -14
similar & (D) proportion & (C) inverse JF‘ (B_) ratio =+ (A)
15- Similar figures have same P Y1V S— Jei 3 .15
size 7L (D) perimetrs b (©) shape Jg (B) area . (A)
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i @) i A E ety 3) L fpnoa it Jil o 1 LS
Section I ]1;'£.

2- Write short answers to any SIX questions: (2x6=12) ..'4-: {fak(ﬂ/ﬂﬁaw"(s){aéf -
i Define square matrix. PSS, i
; 2 3 ; 2 3
ii- Find the transpose of the matrix E =[ 4 5] -’c.{rPQG‘J:;")K E =[ 4 5] N
iii- Simplify: SE _2:‘_:,4“?’( .}_ i
V32 : %} 32
iv- Write real and imaginary parts of the number -2 - 2i. a2 iaaal sl J? L -2-2iw, -iv
v- Express 0.0074 in scientific notation. ; -.’A_qu (.; 7 u’rvf 0.0074 .v
i X %
vi- Find the value of x when log64 §= % 10};64 8= 5 .ﬁ:{'_-’(}";a_’ Sx -vi
2 [ Loa 2
Vii- Evaluate: 3x \/;1_6- if x=-4, y=9 x=-4, y=9 /‘:’i:(:b‘:,fgf?’x—\/-_yﬁ =Vii
S(x+y) 5(x+y)
vili- Rationalize the denominator: \[3 . J—_l

Gl G EeRfer

ix- Factorize: 5x2 - 16x - 21 5x% - 16x-21 .ix

3- Write short answers to any SIX questions: (2x6=12) ..w/ﬂé...mr(s),; :.Jf -3
i- Define L.C.M. o @ ..cf:..d/"JJ’l ola2lys i
ii- Solve the equation 3/3x+5 = Yx—1 @_ £ P Y3xt 5= Yx—1 hle -
iii- Solve:  |3x-5|=4 S 13x-51=4 i
iv- Find the value of m and ¢ of 2x+3y-1=0 by @ LiJfy=mx+csd 2x+3y-1=0 _iv
expressing it in the form of y = mx + c. @ gpsd Secumue
v- Define cartesian plane. % -’;-,uy/‘.‘.d/ gk v
vi- Find the distance between the points A(9 ). ,‘:"’.Ub‘ uywé A8, 2), B(7,2) b6 -vi
vii- Define scalene triangle. et d® i
viii- State S.A.S. postulate. -éul_f. oy -J'.).u" ~Vii
ix- One angle of a parallelogram is 130°. Find the measures 1 75 §130° 200 L16 LLL"deli"vﬁﬁ -ix
of its remaining angles. z‘:(:"‘ i J Ul dL Z
4- Write short answers to any SIX questions: (2x6=12) -44: {/’._,uzﬁ’éuwr(s)g ;.Jf -4
- If CD is right bisector of line segment AB Sotdf ¢ AB 25 Cp 1 -
then mOA=____ = mOA = B in
mAQ=__ A 0 8 - mAQ =
Q
D
jii- If 13 cm, 12 cm, and 5 cm are lengths of a triangle then #112cm « 13 cm Y chéw_,g/: i
verify that difference of measures of any two sides of a uFU Ll s L.—'-Jf‘{ z &jﬂ Jus 5cm
triangle is less than the measure of third side. - bn f = g é‘ P F J ¥
ii- Define a proportion. -Ef_f..‘:l/' St i

(2150 G-V ,]’_,[ 19



6-

iv- What is meant by pythagorus theorm.

~ v- Verify that triangle having measure of a sides is right

angled triangle: a=9cm, b=12cm, c=15cm
vi- Define interior of a triangle.

vii- Find the area of a given figure.

10cm

16em

vii- Constructa A ABC in which

S sy Vesd b v
Ui § e e P YA v

a=9cm, b=12cm, c¢=15¢cm

mE=3.20m, mﬁ=4.2cm, mCA =5.2cm

ix- Define incentre of the triangle.

, S anLak i
' ek PTS i
Sl A ABC  yii

S lals i

(U!f.i 4 L3700 ;8 L z) Section II (2 2

(a) Solve the system of linear equations by Cramer's rule:
3xN-2y=-6
5x - 2y =-10

r B e —

i

]

@Qﬂw

S5
&?

en find

(b) Simplify:

(a) Use log table to find the value of
0.678 x 9.01

0.0234
(b) If x+y+z=12and x2+y2+ 22
the value of xy + yz + zx.
(a) If (x-1)is afactorof x3-kx2+ 11x - 6, then find the
value of k.
(b) Use division method to find the square root of
4t +12x3 + x2 - 12x +4
(3) Solve the equation:
2 11
x2—1 x+1  x+1
(b) Constructthe A PQR. Also draw its altitudes:

%@

;.J‘;__,* J@é//fu:’bl//g){d) () -5

3x-2y=-6
5x -2y =10

” i
("16)3 (25)2 .
(0.04) 2

Z e ed e U rrfb':’ () -6
0.678 x 9.01

0.0234

=64Alx+y+z=12f (‘.-‘)

5()”Jny+ﬂ+2x/:f

K2+ y2 4+ 22

¥k + 11x-6 3. x-1) ] (U -7

e edf kindfaz
K axt+12x3+x2-12x+4 Jﬂ’d/!' (&)
L 0k B e
S e () -8
2 11
x2-1 x+1 x+1
SN W L ik POR & (L)

mﬁ=6cm, m(ﬁ=4.5cm, mPR =5.5¢m

Prove that any point on the right bisector of a line
segment is equidistant from its end points.
OR
Prove that the triangles on the same base and of the same
(i.e. equal) altitudes are equal in area.
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1% .C.:.l;? e e o Ushs éé.: P d:dlrﬂ { Qb/(é':? -u:é':c:-) DsiCcBc A

Azl Ly 2d

e Ll -2 - &J"JL;,(’ S VeSS s wl e Ll - L pl S oo S

1- 1- Ina parallelogram opposite angles are
non-congruent J‘LP/!' (D) concurrent 54 (C)
2- The capacity 'c' of an elevator is at most
1600 pounds, then

“Sx &ld e LE Wi 4 A
parallel (5 (B) oon/&uent fb‘-‘ (A)
0 E3L1600 osks e asks ¢ bt (e 1y S i 2

/

¢ 21600 (D) ¢>1600 (C) c<1600 ®) c<1600 (a)
3- The sign of ratio is ) .-c"_. = Jc:«r’ =3
Il © i (C) - :/(B) = ®
4- Mid-point of the points (2, 2) and (0, 0) is - Bidnk (0,0) 4 (2,2) 46 -4
(-1.-1) (D) 0,1) (C) (1,0) (B) (1.1) (A
5 loge = where (¢ =~ 2.718) (e~2.718) g =loge -5
0.4343 (D) 1 (C) I ()] 0 (A)
6- The medians of a triangle cut each other LSRRI S Ll gyl els 6
in the ratio
1:1 (D) 2:1 (C) 3:1 4:1 (A
o312 Q@ a2
7- —u+ b is equal to O© -4z arh -7
a+b (D) a-b (C) o@ﬁa}-bz ®) @-b? (A)
2 1 @ 2 1
8- Order of transposeof |0 1| is @%5 - (__)g;,;«’,;g 0 1|6 -8
3 2 3 2
3-by-1 (D) yo-s (©) 2-by-3 (B) 3-by-2 (A)

9- Factors of 5x% -1 7xy - 12y2 are

(Sx - 4y).(x + 3y) (D) - 4y),(5x = 3y) (C)
10- Which ordered pair statisfies the equation y=2x ?
(0, 1) (D) 2.2) (C)
11- The region enclosed by the bounding lines of a closed
figure is called
width {22 (D) length U/ (C)
12- What should be added to complete the square of x4 + 647

4x2 (D) 16x2 (C)
. -1
13- [Z—SJ 2
16
4 _3
73 (D) 2 ()

14- Bisection means to divide into _____ equal parts.
5 (D)
15- In two triangles for (1--1) correspondence
symbol used is

4 (C)

~ (D) © (©

14-(I11)-119-103000

3 GAeIZIL 5% - 17xy - 12y _9

{x - 4y),(5x + 3y) (B) (x +4y),(5x + 3y) (A)
Se g S/ y=2x 2o i Uf 10

(2,1) (B) (1.2) (A)
Sl § BB i S S f s 11
-9?“{ ﬁpu Jr s
area J (B) volume £ (A)
b AP S WYL 64 Jr 12
-8x2 (B) 8x2 (A)
=
- (32) 2 .13
—  \16
4 ot
5 (B) 4 (A)
bt Ui lpeAE 14
3 (B) 2 (A

_q_txdb.’l u@é_:@:@bﬁ-ﬂul_z»ﬁu)‘pu =18

= (B)

OUT—2—/73

(A)

- —
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-4 (9) i/:“'dlr("t' -éd’al"r (B) L L (2o el Jit oo 12y

Section I J_)'L.«_'_D

2. Write short answers to any SIX questions: (2x6=12) -é {/.;W/"L.;UV(S) ic_(jf -2
i- Define zero matrix with an example. Z:J}‘/ e J LESM i
1 2 1 2 ;
ii- If A =[0 ]] then verify that (Aht=A A=A SLokinc A= [0 : S i
iii- Define terminating decimal fractions. o el i B il
-4 -4
= : - ce o, o= 8 V3 .
iv- Simplify (%5-) 3 by using laws of indices. -’é/"c..u SLLl S (72;] 3o
v- Find the value of x in log,x=5 Epred xtlogx=5 v
vi- Express 9.018 x 10°% in ordinary notation. -Z.Uu.! (f 71k £ 9.018x10% _vi
3 w3
vii- Express 7 128 inthe simplest form. _aﬂ;f‘z; AL 2 128 (4, A3 _vii
viii- Define polynomial with an example. -Z,:—éf ,Jf s Je J J/ [ ~viii
ix- Factorize: 14422 +24a + 1 (255 S 14422 + 242+ 1 i
3- Write short answers to any SIX questions: (2 x6= @ -é {f.-,uzf‘?é.-,mr(s)g c,J/ -3
- Find H.C.F. of 91x5y627 and 39x7y%z. Sk Ak 39x7y3z 4 91x8yB27 i

ii- Solve:  4/3x+4 =2 @ o SE f3xrd =2 i
1 % 1. .
iii- Solve: —2-|3x+2[—4=11 @ _'é(,lv_-,nf(5|.>x+23—4=ll il

'e@y=~2 by /:ll;ﬁy=mx+c:(x-2y=-2;',v -iv

iv- Find the value of 'm' and 'c' of the

expressing it in the form of y x ’ -ép"' JJ '’ s 'm' 2 L.'../
v- Verify whether the point s on the line £2x-y+1=04(0,0) B VLS -V
2x-y+1=0 ornagt _u.lc.cf-
vi- Find the distance between pair of points A(9,2) and B(7,2). (}”Jwb uw.._ B(7,2) 2 A(9.2) 85 -vi
vii- Find the mid-point of the line segment joining A(-8,1) b’b 8” LIy ¢.c._ B(6,1) »! A( 8,1) by vii
and B(6,1) & Pw Sl
viii- Define S.S.S. postulate. SZYk s KL S il
ix- One angle of a parallelogram is 130°. Find measure of its Uil JL-.;_ 130° .o LK Loy -ix
remaining angles. b g
4- Write short answers to any SIX questions: (2x6=12) -z£ (/’.:,yz/"”&.-,uv(e)g c..Jf -4
i If CD is right bisector of line segment A3, then X ¥ AB 85 CD Sk Pds -
— = ‘ - SE— ——
find mOA and mAQ tc =2 mAQ # mOA 7x it
§ \O/ B o il
Q
1- D
y %
ii- Explain that the given lengths can be the sides AL 96“ ngb. Al Uy o” $ S £ =2 i
of atriangleornot: 2cm, 4cm, 7cm 2 cm, 4 cm, 7 cm

iii- Define congruent triangles. —_ o SutbSe i
(L15m) G Ny 9
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GuF-> 15

iv- Find the value of x in the given figure :

Zebred (x PG v

V2 em
X
lem
v- Verify that the triangle having following sides is a g NGB Ly A G fiomnt Gy
rightangled: a=9cm, b=12cm, c=15cm a=9cm, b=12cm, c=15¢cm
vi- Find the area of the given figure: :ér}",,b ¥ quf S oovi
10cm
=

vii- Define rectangular region.
viii- Construct A ABC in which

ix- Define orthocentre.

(WA a Lz s ﬁ} 8 ‘ép
(a) Solve by using matrix inversion meth
2x+y=3
a2?
(b) Simplify: ;?J

(@) Prove that: log, (— =log. m—log n
n
1 ] 2 L
(b) Simplify: - - -
G ¥4 x*Ly
(@) Factorize: x4+—17-3
X

(b) Find the square root by division method:;
4x4+12x3+x2 - 12x + 4

7—x_>_]

(3 Solve the inequality; 32

(b) Constructthe A ABC and draw bisectors of its angles:

m/ﬁ=4.5cm, mBC = 3.1cm,

Prove that any point inside an angle, equidistant from
its arms, is on the bisector of it.

OR
Prove that the triangles on the same base and of the

“same (i.e. equal) altitudes are equal in area,

14-119-103000

-_){._Q/‘"J.,Lul:-'nlm Vil
LE 1k ABC &l _viii

7em, mZB=60°

~EPSPED Dt ix

e S Zude (L) s
2x+y-3 Bx + 5y =1

.- a2t a°m a’".) )
-éf;’( af+—m am-»n;’ ,‘n+1/, =

e

EAS x4+i4-3 () -7
X

B e (i ()
A+ 12x3+ x2-12x + 4
7 - y
¥ ZE S ahled () -8

2 21
2

S Ly L &b ABC &2 (L)

mCA =5, 2cm

Uit Lufh.fdfgf LJJA'LL:'J (f/fé./l‘ -9

-t db £ -t LLJ‘J 15 s !)’J‘U’d:l/ =B
!

Lu’/ﬂu’f db/ oG (5 ..f’)’ U’V(,d’fc..—/?

DU £z V' ..J/ 3y Ur sz C,UJ’



